L
indiresult.in whatsapp - 9352018749 6/’/
/!e!éNDI ESULT

Post Code Question Paper Code e

87/107 25/39 D

To be filled in by the candidate. (Read the instructions before filling)
qtemeff gRT T SR | (A W R R e W)

Roll Number (in words) : °
FHHIs W@ (=l H) N
RollNurnber(inﬁgures): YOUR succ:#ﬁ ARTNER
ITHHIS & (3P H)
Centre of the Examination: N ~
=k - CYlylH _25/9
. . D.O-E - 2ifol/jaoi
Signature of Candidate D / / 8 Signature of Invigilator
Competitive Examination
Y - QY gve QUi : 100
Time : Two Hours Max. Marks : 100

whefiat £ ﬁ'l'(f ﬁéﬂ (Instructions to candidates) :

gl @ IR e R T S0THAR (OMR) SR-19 W & T
Answers are to be given only on a separate OMR Answer-sheet supplied.

T gfRe sN0THONRO SER-TAG ST TE AT JAT | F6: §He WA T @ o R 3 R T s
& JfaRad & ¥ 918 7 B 7 |

No additional OMR Answer-Sheet will be provided. Candidates are advised to handle it carefully and do not fold
or tear it except given perforation.

F SovHosTRo SeR-TFb W NG U4 g /gl @1 R 2 Bie SUAT Aol a1 Gige 9 @1 & 50T B | o

P AT T R
Use Black/Blue ballpoint pen for writing and filling the circle(s) on the OMR Answer-sheet. Don’t use Gel Pen.

T yu o (T Ao sl §) dad AVl & a9 ARl § o | AT e SaR-UEe R U4 yE-JRaa @
& ye R 3 1 @El A e fod | s @ vl v sl § e ford
Write your Roll Number in English Capital letters only (words and figures both) on the Question booklet as well as on

OMR Answer sheet. Each numeral is to be written in a separate block printed and darken the corresponding circle below on
the OMR Answer-sheet.

TG : W SFAD T 0123456789 36 THR ford |
Example: Roll Number 0123456789 shall be written as follows:

% W:: i ZERO | ONE | TWG | THREE FOUR FIVE SIX | SEVEN | EIGHT | NINE
Ipr # B | , ; ) . ] : . ;
In figures

F y AMOTHONRY IER-TIF R T-JRAH R b FIs e 1@ IS FER & Walkd gedl B ene W
Write the Question booklet code as printed on question booklet on OMR Answer-sheet and darken the circle
corresponding to the Question booklet code.

F e 9 IR B R 1.0 3 A TR | T SR 3 W % 3@ Prel TR R T weE @ $ie IR A8
o @ 9D @13 3id TEl feur IR |

1.0 mark will be given for every correct answer. On giving wrong answer % mark will be deducted and if question
° is not attempted by the candidate, no mark will be provided.

A

Ff+H 7% <9 | (See last page.)

&/
c !N l!DlIlB cE:§ H!-:I::Ei indiresult.in whatsapp - 9352018749

SEAL



indiresult.in whatsapp - 9352018749
‘Known to unknown’ is a :

[

nnnnnnnnnnnnnnnnnn

9 F AT B AR B, 0D

Egg ?eacﬁ?mg I\hj[[ethod (A) Fregor fofy
eaching Maxim
(C) Teaching Technique ((B:) gg'; %.(5
(D) Teaching Device ED)) ey ?ﬁﬁ
2 Teaching strategy is a : L fRregor e gl g:
(A) Plan to achieve objectives (A) ST BT UK FRA Bl AT
(B) Method of teaching (B) fierr & fafy
(C) Extra activity in the class - R
(D) None of the above Eg :%;: ¥ m%{g
3 Personality traits of Mesomorphic individuals 3. JAAHR TRING G el Afad § I o
are : . el Afdered o7 & €
(A) Traditional and social (A) WERMEE T8 FHI0E
(B) Peace loving and solitary = g
(C) Energetic and angry (B) Wﬁﬂ% L
(D) None of the above (© ga_\q o T
(D) Sud
4. In team teaching, a team of : 4. <ol g § @ 2
(A) Teachers, who prepare the teaching plan (A) TR FT, W Reor o B TR W
and implement it _ I foparaa &ar @
(B) Students, who prepare the teaching plan (B) B3 &, S R I & TR & SaaT
and implement it W T 2
C) Teach d students, wh L .
™ eaching plan and mplement k © {6 TR % R 70, e S
(D) None of the above ) TR aj_:; 3 3% T8 &
(D Gcl{]fﬁ
5. The level of anxiety which makes student 5. f2r &1 98 WR o v @ 9 & o U
receptive of learning is : INATE B &
(A) No anxiety (A) ﬁ?ﬂ q g‘l:n
(B) Excessive anxiety sl B
Eg) Normal anxiety Eg; ot ﬁ{T
) Learning has no relationship with anxiety ; ..
(D) o () 7 fiar & B wew T @
6. “It is wholehearted purposeful activity 6. "I WHIRTD aaraRel # ford fbar @ areln
organised in social environment.” This THTS aa-&wrin‘[ fharea 21 38 o9
statement indicates towards which teaching # frg ﬁﬁj Bl 3R TPT Fer & ?
method ? A) eI '
(A) Demonstration (4)
(B) Heuristic (B) &R
(C) Problem Solving (C) I8 A
(D) Project (D) Hisiee
2 Right to Education Act, 2009 has a provision for : 7. et &1 JfeR IfRAfRM 2000 ¥ grawE 2
(A) Right to free and compulsory .education (A) ﬁ’fi‘gﬁﬁ U9 Jfvard R &1 e
(B) No mental and physical punishment to (B) 9I6d B URIRG T AHRIP U8 BT Ry
child S : Syaver ‘
(C) Arrangement for protection of child rights (©) 9 W
(D) All of the above (D) 3[@“ il
8. V:/hc{let assig:aingh a ‘gro{sct lwork’kto tk_le 8. BIE & TRIHT $1° 7 T T BRE B
students, a teacher should always keep in | T AR 5 T
mind that it must have : m%;_j Mo ) ﬁF :
(A) Educational purpose (A) 5 g ;
(B) Relation with real life situations (B) Wdu qrcifaa Sfiae @ aRRefodl 9 &
(C) Learning by activity (C) A fobar grT &1
(D) All of the above (D) I w4l
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13.

14.
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While doing group teaching, out of the 9. e dxd ﬁ e
following, which method you will apply to IR & HHEE gg fr=fofRag & 9 amg &=
solve individualized problems of each student? & Ry &1 vgrr Fa ?
(A) Lecture (A) T
(B) Programmed Instruction e EW
(C) Tutorial EE; ?ﬁjﬂﬂ
(D) Demonstration D) T
The behaviour ofa teacher may be from ‘verbal’ 10. 98wy ufpa # Ree &1 2aer ‘mfed @
to ‘non-verbal’ in communication process. ‘sonfeed dF & Hahdr 2|
(A) Itistrue (A) 6§08 &
(B) It is not true (B) TE Tad &
(C) It is partially true SFTE
(D) None of the above Eg)) ;%ﬁ 3 _\;;\;:_? ¢
Why micro—teaching is important for 11, S5 T i\\g H\&H—QIHUT A ARG & 7
classroom communication ? (A) ti'g_tﬁqu] g—q
(A) To get feedback (B) faft= et & Rem %‘g’
(B) To develop various skills
(C) To complete the lesson (C) WS Tﬁ L %?,I
(D) To evaluate (D) e ?‘gl
As a teacher, if you want to correct the bad 12.  3eAd 8 @ A afe Iy ot faemft & Eﬁbf
habit of a student, which theory of learning ed B QR Tred &, df fhareas e 9
you will keep in mind while planning the THT 3T A @ e Rigid 1 e § e
action ? §ﬁ ks
(A) Insight Theory (A) R
(B) Trial and Error Theory (B) I T4 gﬁr
(C) Classical Conditioning Theory (C) AT Srgawe R
(D) Field Theory (D) &3 g
Personality of an individual is which aspect of 13. fd, f5dl Afdd & daeR &1 oF a1 Wl & 7
his behaviour ? (A) GEHHS Ug
(A) Cognitive aspect (B) R—TgHIHS U8
(B) Non-cognitive aspect ©) M v
(C) Intellectual aspect
(D) External aspect (D) S 94
The practical method to make student understand 14. Rl o1 #feq Wl &1 aef wwe @
the meaning of the difficult word is to : waeiRe fafy &
(A) Teach them usage of such words in (A) Wl @) At § YO e e
sentences S ‘
(B) Give their antonyms (B) e arel I A
(C) Give their synonyms ©) Wﬁﬁw e .
(D) None of the above (D) Wjﬁ 43 B1g T
A child is scared when he see black dog, black 15. TP qa9d Flel aﬁ @Tell facell T4 @It BIc &l
cat and black coat. This conditioning is TGP SH o T & T UBR B CSCRE| H
involved in : fafed &
(A) Generalisation of response (A) Srgﬁv'&T B ATAAHROT
(B) Generalisation of stimulus (B) SENG P ARG
S e g (©) i (A) IR (B)
(D) None of the above (D) I 5§ ¥ B T
What is the real carrier of hereditary traits ? 16. angaﬁras T’ﬁ T IRfAD Haed T & ?
(A) Chromosomes (A) U
(B) Nucleus (B) BEH
(C) Genes ©) S
(D) None of the above D) ; i 9P
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17. One of the following is not the method of 17. fA=folRad & & ve Hferw Ao & fafy =% &
educational measurement : (A) THEHR
(A) Interview (B) W—Wﬁiﬁ qﬂm‘u‘r
(B) Norm-referenced Test (C) e
(C) Questionnaire )
(D) Observation (D)
18.  To understand the heredity, you must 18. GFHH B GHM & ford SMUB! EAS T
understand : ST 21T
(A) The law of similarity (A) GHFAT $T o
(B) The law of variation (B) R=ar &1 Frm
(C) The law of regression
(D) All of the above 8 ”'%"i q"ﬂ;ﬁﬂ’ frrm
19. Whichstep is not included in Action Research?  19.  fhuIcid 38 # @19 W1 ug afferd &1 2 82
(A) Selecting the problem (A) 9ARIT P 979
(B) Generalisation of results (B) IRl & FEFdeR
(C) Formulation of action hypotheses (C) fraremd e a1 ﬁ'ﬂfﬂr
(D) Preparing plan to overcome the problem
(D) TR B T &R & forq Ao fafor
20.  From the following, which one is not the 20. fA=faRad & 9§ @9 45 927 G| Tq W
element of ‘guidance and counselling’ ? BT IAT AR & ?
(A) Adjustment (A) FHRIGH FT
(B) Orientation Gﬂ@w
(C) To develop emotions (B) . el
(D) None of the above Eg)) m—‘ﬁi ﬂm?ﬂﬁ
21.  While writing on the blackboard, out of the 21.  wMues W forad HHY, 3R BT FPR TT FI
following options, what will you specially keep 3 ford o 5 91 &1 fA9w eg <@ ?
in mind to decide about the size of letters. IS faenfyay
(A) Distance between blackboard and students Eg; e g R @ jwq%{@
(B) Distance between blackboard and teacher
(C) Length of classroom (C) P-4 B T ,
(D) None of the above (D) SWH H | P TE
22.  The cognitive behavioural skill of enabling the 22,  WSTHIcH® WaRYd e & i foenedl @
learner, to understand the use of theoretical Head dUA & IYANT & aRafas IRRufyat
statements in real situations is called : ¥ WM @ WEW ST BT &
(A) Understanding (A) Fam
(B) Application
(C) Analysis (B) g
(D) Synthesis (©) ﬁﬁw
(D) Helyo
23.  From the following, which is the best method ~ 23. fAmfeiRad § ¥ ) feneff & amraRe w=nmat
of measurement of a student’s inner feelings ? P AT P GaH gAY P A g ?
(A) Questionnaire (A) PECICE
(B) Interview (B) WEIHR
(C) Sociometry A
(D) Transplantation method Eg; ARy
IR
24, Teaching aptitude means : 24, Pweror s ¥ arcd @
(A) Devotion towards teaching work (A) e e 3 ufe 9o
(B) Desire to become a teacher (B) Rwd T @ 9T X@T
(C) All the requisite abilities for profession (C) P  aam € T aifsd Araar) E
of a teacher . D) M i Y
(D) Good rapport with student indiresult.in whatsapp - 9352018749
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25. How will you mainly develop self-discipline 25. 3 e faenfdfai # q= R W AR
among your students ? g uypR faafd a9 ?
(A) Giving them responsibilities (A) IT7P] Il Y
(B) Telling them rules for good character (B) o IR B fraw qamaw
(C) Giving punishment ©) TS SN
D) Following the rules )
= ¢ (D) st &1 e e
26. A teacher plans his teaching learning process ~ 26. & feid 3 Rwevi—iferm yfshar & Ae
keeping in view : I 99T SO ¥ @l €
(A) The objectives formulated (A) fafifa m
(B) The human and physical resources (B) W vd G HEmH
(C) Both (A) and (B) : .
(D) None of the above Eg)) ﬁ! (Aﬁ)f %aafb";? o
27.  Which of the following is not the element of ~ 27. fy=feRad ¥ 9§ 9 W1 ‘Se<ive RacH el
‘Stimulus Variation Skill” ? H I TRl B 7
(A) Set Induction (A) =T IROT
(B) Movement (B) e
(C) Gestures c g
(D) Change in voice ED% 2’; s
28. Intelligence tests are used for : 28, gfg wevil @1 WA foar Wi &
(A) Grouping the students in school (A) foemer ¥ BEl & Y o & |
(B) Guidance purpose (B) e[ & e %@
(C) Selection purpose e
(D) All of the above EIC))) fm:[; aﬂ;{h ?‘g’
29. What is not essential for measurement of  29. fNTH HIUH B B ford T IMATS TEI ® ?
learning ? (A) TRweror @I Jfeai @1 gar o
(A) To know tactics of teaching (B) et @ AT S BT
(B) To know validity of examinations (C) wemalt P Rawir s Fe
(C) To know reliability of examinations Rt S
(D) To know acquired skills of the students (D) &R 31 W B
30. The curve indicating complete information 30. Y & IR A ‘Iﬁ SFERT 3R A el 9%
about learning is called : P HEl Ol E
(A) Curve of increasing return (A) qﬁgqﬁ aa 9%
(B) Curve of decreasing return (B) SR @ I
(C) Curve of equal return :
(D) S—Shaped Curve ES)) Q'H” ! a_;?ﬁ
31. In which type of lever, the weight is in 3. {59 USR & SAAd § YR, 9 T ITHE D
between force and fulcrum ? daHeEag?
(B) Type-II (B) TR
(C) Type-Il () TETII
(D) All of the above B
(D) STH T
32.  The time taken by a projectile to reach to the 32, U® Y& gRT U+ Y&IUds &1 dic] adb Jga &
peak height of its trajectory, is called : forg o 999 B HET WIdT & ?
(A) Time of flight (A) IS FT G
(B) Time of ascent B) Q‘@Ir_c’ S1auy
(C) Time of descent EC) ke srien
. (D) None of the above . .
ympiaesuTe (0) I & & 2 7
25/39 87/107 D-4
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33.

34

33,

36.

37.

38.

39.

40.

41.

The word “Obi” is related to :
(A) Boxing

(B) Wrestling

(C) Tiquando

(D) Judo

Brady’s Volleyball test components are :
(A) Volleying and Serving

(B) Serving

(C) Volleying

(D) Volleying, Serving and Smashing

What is weight of handball for men ?
(A) 325-375gm.
(B) 375-400 gm.
(C) 425-475 gm.
(D) 450 — 500 gm.

Softness of bones is called :
(A) Osteoporosis

(B) Osteomalacia

(C) Osteoblast

(D) Osteoclast

Body Mass Index (B.M.1.) is given by :
(A) Height® (in mtr.) / Weight (in Kg)
(B) Weight (in Kg) / Height? (in mtr.)
(C) Height*(in inch) / Weight (in Ibs)
(D) Weight (in Ibs) / Height? (in inch)

What is ‘Ashes’ in cricket ?

(A) Test series between India and Australia
(B) Test series between India and England
(C) Test series between Australia and England
(D) None of the above

Supination and Pronation movements are
associated with :

(A) Radio—Ulnar joint

(B) Elbow joint

(C) Shoulder joint

(D) Knee joint

The difference in pressure between systole
and diastole is called :

(A) Blood Pressure

(B) Pulse Pressure

(C) Osmotic Pressure

(D) Diastolic Pressure

Harvard step test is used for measuring :
(A) Agility

(B) Cardiovascular endurance

(C) Strength

(D) Flexibility
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33

34.

35.

36.

37.

38.
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QN greg TR B
(A) Gabari |
(B) F¥ &

(C) drgaErs!
(D) I ¥
ESECIRICIER TR

(A) dfell AT q Qg Fv

(B) afdq F1

(C) dfelt &

(D) dfcll X1, |G BT T Y8R el
qou & oIy gvsdidl @1 WR foreT g & ?
(A) 325-3757H

(B) 375 —400 7

(C) 425-4757M

(D) 450 — 500 719

2SS BT BT Bl Bed & -

(A) AReaORRE

(B) 3Reameif

(C) M

(D) AR

YIS A SSa (FI0THONE0) BT <o 1T &
(A) $are (o #) / R (o ¥)

(B) R (f&mo #) / =g (o ¥)

(C) TR (9 H) / 4R (=vs ¥)

(D) ¥R (Ur=vs #) / e (o ¥)
fobpe # T Fur B ?

(A) ¥Rd 7 IRgfor & 99 o A
(B) ¥Rd 7 3701V & d9 % €N
(C) Irgferar 7 7eve & 9 o W
(D) SUYw # W 313 T

IAMA R Ferae ot gt ¢
(A) “fea-aer afr @

(B) el o |1 |

(C) &8 & wf 9§

(D) e &l |f

Rreifors IR SRREIfod T & =R &1 ded
g

(A) & TE

(B) ISI T@

(C) WU g9

(D) SIS TE

BAS e TR BT T B e §
(A) T A A

(B) ¥<¥ &I #oigd! Ao H

(C) wfed A= &

(D) orF A9 §
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42.  Sternocleidomastoid muscle is situated at : 42. TCAldieeEs U Rea 2
(A) Neck (A) T W
(B) Chest (B) B W
C) Back
gD; L:; (C) B W
(D) R®
43. World Ante Doping Agency (WADA) was 43. doe TS SIfUT ol (@W{OQO@[OQO) ARG
established in : :
(g) ggg ﬁ-g- (A) 1995 %0 #
EC% 1997 A:D: (B) 2395 0 ﬁ
(D) 2001 A.D. (C) 1997 0 #
(D) 2001 %0
44.  The Goal Line Technology (G.L.T.)is mainly ~ 44. 7 o< ddid (Soveocio) & U 4 fbg
used in which game ? W § SUONT @ S E 7
(A) Hockey (A) B
(B) Handball (B) vedrd
(C) Football o) Tt
(D) Netball (C) THA
(D) cdfd
45. The duration of ‘time-out’ in Kabaddi  45. @des URIA # TRA-3MSC ®I 3@ Bl &
competition is : (A) 20 HHUE
(A) 20 seconds (B) 10 W&vs
(B) 10 seconds e
(C) 15 seconds (g) 13 JETE
(D) 30 seconds (D) 3
46.  The trachea and the oesophagus are separated ~ 46.  JaIGell 3R HIo Afcdl & Hadl ® TP BIc
by a small flap of tissue is called : ¥ e NI 3 fpar oI €, 9 PEd § ¢
(A) Oesophagus (A) TEBTE
(B) "Latyis (B) ™
(C) Oropharynx YR
(D) Epiglottis (©)
(D) guIeIfcs
47.  Which of the following events is not included 47. SEHReH # fefafad § 9 o9 @ gfaaifi
in Decathlon ? oifAer F8f & ?
(A) 200 meter (A) 200 ez
(B) 400 meter
(C) 110 meter hurdles \B 400 wﬁma
(D) 100 meter (©) 110 FIX TSR
(D) 100 HIex
48.  Diathermy is a method of : 48. M UH NS ¢
(A) Active warming up (A) Hfpa aiffT—am &
(B) Cooling down (B) YHT B &I
(C) Passive warming up (C) Fifsa affr—ag &
(D) None of the above (D) m ¥ QP
49. The length of the Javelin throw for men 49. AT BH H E\Wﬁ o foR) Wl o T=E |
should not be less than : FH F2l 8 AR
(B) 2.65 meter '
(C) 2.70 meter (B) 2.65M
(D) 2.75 meter (C) 2.70 R
6{// |ND|RESU|_TE (D) 2.75 Hex indiresult.in whatsapp - 9352018749
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50.  An International Basketball Federation (IBF)  50. 3icRI&d TRdcdiad HexgH (SHE‘OEQTOQIBO) DI
was set up in the year : venfoa foar Tar o ¢ /.
A Lo (A) 193290 ¥ (#NoiresuLTe
?3; ]1352 i'g' (B) 191230 #
(D) 1908 A.D. (C) 1926%0 #
(D) 1908 30 H
51. For any disease or disorder of skeletal 51. ol AUl @ fed @ S @ iR @
muscles, the term used is called : fo 59 e o1 ST fhaT I & ¢
(A) MYOSi[iS (A) mﬁﬂ
(B) Myolegy (B) ARivaireh
(C) Myography () AR
(D) Myopathy D) NN
52.  Who among the following is known as the  52. fA=foRad § & @ W fase & fiar o
father of kinesiology ? W g ?
(A) ArChilTledeS (A) Sﬂﬁ%ﬁ@a
(B) Cladius Galon (B) TR AdM
(C) Sushruta
(D) Aristotle Eg)) 93
53.  Factors determining the endurance are : 53.  gerdior & fAuiRa &= @l RS &
(A) Aerobic & Anaerobic capacity (A) 3Tl U9 STl &
(B) Energy Resources (B) Tl & 9 d
(C) Psychological Factors (©) R TR
(D) All of the above (D) j s
54, Which of the following is not considered asa ~ 54.  fy=ifoiad # & 3F “#ax WIEH & v Tl
“mother sports™ ? AT ?
(A) Athletics (A) Yo
(B) Aerobics Wiy
(C) Swimming (8) vt
(D) Gymnastics Eg;
55.  The ‘Ethmoid’ bone is related with : 55.  ‘3uiEe Eeel |aMdd B
(A) Forchead (A) W
(B) Ears (B) Eﬁl;h ﬁ-
(C) Jaw
C) s ¥
(D) Nose ED)) T
56.  For shuttle testing in Badminton, the mark for 56,  defiies # wea W & ford €W wieat @ ford
slow shuttle is : fem 2
(B) 990 mm from end ll:ne (B) fweh amg 3 990 0
(C) 500 mm from end line
: (C) fowel =g ¥ 500 Ao
(D) 530 mm from end line
(D) fowell @z ¥ 530 Ao
57.  ‘Battle door’ is the ancient name of which 57 dcadeR g Wd BT URE AM © ?
game ? (A) Yefiieq
(A) Badminton (B) TR
(B) Boxing C
(C) Wrestling (©) T
(D) Kabaddi (D) W@'{_G?f indiresult.in whatsapp - 9352018749
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58. In 400 meters women hurdle race, distance 58. gl @ 400 #Hex S < § AR wy
from last hurdle to the finish line is : T ST aF B Al fha adr 2 ?
(B) 0.742 meter (B) 0.742,%_{
(C) 0.722 meter ' Aex
(D) 0.786 meter (€) 0.722
(D) 0.786 HieX
59. Round robin tournament is also known as : 59. 9e dfeT @Jﬂ}ﬁ'ﬁ’ Bl I8 N PEd &
(A) Knock out tournament (A) ¥ ST T
(B) League tournament (B) it E:iﬁ?t\
(C) Combination tournament ﬂﬁqﬁlﬁ“ Q‘ﬁ'ﬁﬁe
(D) Challenge tournament EIC))) ey =
60.  ‘Jules Rimet Cup’ was associated with which 60.  SeH e &0 o Wa o Gafea o ?
game ? (A) Bedrd
(A) Football (B) K|
(B) Hockey ©) frde
(C) Cricket Te
(D) Golf (D)
61.  What is the height of net in the centre in lawn ~ 61. & ¢ # w2 & S35 &= | b 2l & ?
tennis ? (A) 29
(A) 2 Feet (B) 3 q.ﬁ'a
(B) 3 Feet (C) 4%
(C) 4 Feet v, e
(D) 4% Feet (D) 4%
62. Blood is always slightly alkaline. The pH of ~ 62. h gl af\d GRIY 8idl & dAT SHD! pH HH
blood is : BT e
(B) From7to 1 B) 7% 1@
(C) From 7.35to 7.45 ( 3
(D) From 7 to 14 (C) 7.35 % 745 0%
(D) 7 ¥ 14 T
63.  In pole vault the distance between uprights ~ 63. &9 g # JRECH & 419 B g &+ AMRY
should be between : (A) 4.60 ¥ 4.67 ¥
(B) 4.50 to 4.57 meter &) 4. HAR
(C) 4.40 9 4.47 Hrx
(C) 4.40to 4.47 meter & e
(D) 4.30 to 4.37 meter (D) 4304437
64.  Who donated the Ranji Trophy ? 64. U SOl fhed gRT g # € U ot ?
(A) Raja Ranjeet Singh (A) TSl Xl g
(B) Raja Karan Singh B) ST '
(C) Raja Bhupindra Singh (C) A ﬁmﬁ:{ifﬁ;f&'
(D) Raja Maan Singh (<) "
(D) 3o 9 R
65.  Which of the following Vitamin is water  65. f3=ifeiiad # 9 SI9 &1 faeifi ue # germeher
soluble ? g7
(Al Ve, (A) e v
(B) Vitamin ‘B B) ey &
(C) Vitamin ‘E’ (B) frerf ¢
“ (D) Vitamin ‘K’ (©) ‘i
D) faeif= &
Y :
(#piResuLTE i
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66. The depth of the waves to penetrate injured 66. ST ffecw # Afed &7 W T @ yAA
area in Diapulse Therapy is : &HaT Bl B
8 Cone 530t
(© T (B) 10 ¥ 14 T0
(D) 3to5cm (C) 73 9 30
(D) 39 5 |HO
67. The lifetime of white blood cells is : 67. 3dT B BB BT SHAFBIS il ©
(A) 4to7days (A) 497 fH
(B) 16to 18 days (B) 16 J 18 &
© 2025w © wint
4 (D) 30 ¥ 33 =
68. Which of the following planes of the body  68. fA=fafad § ¥ &9 I 9 IR BT HU G
divides it into upper and lower parts ? foraer wri & foaforg evar & 2
(A) Sagittal (A) fea et
(B) Transverse m
(C) Frontal E(B;; a?
D) Vertical WER
®) (D) acwa ad
69. ‘Agoge’ in ancient Greece meant : 69. URIM A H 3R Hel el o
(A) Formal system of education (A) drrRe e gomelt @
(B) Informal system of education (B) sRgERE R yore &t
(C) Reading, writing and playing
(D) All of the above (C) ueH, foram ok Werd @
(D) ST T
70.  Cybex machine is based on the principle of : 70. g9 T 6w Rrgra ) smlRa g ?
(A) Isometric (A) FAMHE
(B) Isotonic B wqﬁ
(C) Isokinetic ; C; L
(D) None of the above : .
(D) STYH A ¥ PIg T
71.  Nephron is the unit of : 71. B THTE €
(A) Cells (A) DIH B
(B) Nervous system (B) HPrer aer alt
(C) Tissue C) SqF A
(D) Kidney ED)) e &
72.  The term is used for profuse bleeding is called : 72, YN HEAT ¥ Yo @ ol 39 I &1 WInT
(A) Prefusion foar ST &
(B) Haemorrhage A ;ﬂw
(C) Hypo fusion EB; LI
(D) Hypo prefusion
(C) B3 TS
(D) TS Mo
73.  Name of the first principal of YMCA College 73.  dIS0UHONIOV0 Bfoiw 36 fhfida QWFT
of Physical Education, Madras (Chennai) : e (dW78) @ 9UH A BT AM B
(_A) P.M. Joseph_ (A) oTHo CIr: 1
(B) G.D. Sondhi (B) oo d=h
(C) AK. Singh 30 R
", (D) H.C.Buck (C) Qom0 i
SN R (D) TE0H0 IF
2‘9 !N.D,IB =E=-$g!':[g indiresult.in whatsapp - 9352018749
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74.  In one rescuer, C.P.R. given chest compressions ~ 74. U® Vgd ®Aidd gRI Ud H’ﬂ% @ Fiodtoarmo,
to an adult at the what rate per minute ? B W 2919 fhg X W ufy e fRar smar 2 2
(A) 60 (A) 60
(B) 80 (B) 80
(C) 100 (C) 100
(D) 40 (D) 40
75.  “Physical education is a part of education that ~ 75. “WR® f¥em, Rrn &1 98 v 2 o 99Rs
develops a person through physical feraTeml & WIRA afd &1 faer oxar &1 I8
activities.” This thought is given by : faam fear a7
(A) Brown Well (A) 399 9 B ENI
(B) A.R. Bayman (B) TR0 ¥8 & §INI
C) Nickson & Kajan
gn)) % Thoris e (C) f¥ew 7 @roM @ g
o (D) wlodio 9 & NI
76.  Which is not a type of coordination ? 76.  fy=foied # a9 G990 &1 YR & & ?
(A) Coupling ability (A) T @l e
(B) Reaction ability (B) wfafhar graar
(C) Rhythm ability (C) dradd Fraar
(D) Short duration method (D) & aafy Ry
77.  InBadminton, if service is done again without 77.  deficd # afe fam faeh wea @ iy <Ew
any foul, then it is called : H1 B A S BeT o ©
(A) Lift (A) forwe
(B) High service (B) @ affw
(C) Back hand €) ¥ ¥
(D) Let (D) @
78.  World Health Organisation established on : 78. {499 Ry WeA @) YU g‘a‘ off :
(A) 07™ April 1948 A.D. (A) 07 3T 1948 30 BT
(©) 01 Moy 1955 AT, B T P
S May D
" (C) 01 % 195530 &
(D) 08™ March 1995 A.D. (D) 08 W 1995 20 B
79.  The most reliable measure of variability is : 79. fdued @ w9 @ fAvawig 7w
(A) Arithmetic mean (A) THOY Wy
(B) Median (B) e
(C) Mode
(D) Standard Deviation tg; ﬂﬁ_ﬂ?ﬁ
80.  Required ratio of carbohydrate, proteinand fat ~ 80.  ¥NR & fofu amfé wwqfera ameR ¥ drTEEge,
in a balanced diet for a body is : WA T a7 T /1 CERIG] 2T afdg &
(A) 151:1 (A) 1:1:
B) 3:1:2 B) 3:1:2
(C) 4:2:1 ©) 4:2:1
D) 4:1:1 (D) 4:1:1
81.  The function of ribosome is : 8l. M &1 I &
(A) Growth A
(2; Respiration EB; g—gﬂ
(C) Protein synthesis oo
(D) Movement (©) SR
(D) Wfa
82.  Kohler’s theory of learning deals with : 82. fermH @1 FiRer e fhay gafug & ?
(A) Trial and Error (A) T 3R gi%
(B) Conditioning (B) 3ae
(C) Insightful learning ©) ﬁ_&w ST
(D) Transfer of learning .
(D) ferT &7 EwiaR
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83. Formula for extracting stagger on tract of 400 83. 400 WX B ¢F W WIR Mdre o el %
meters is :
(A) [fwn-1)-- 10}27] A) [wn-1)-- 10}2n]
B) [(w(n-2)--20}2n] (B) [{fw(n —2) —-20}2n]
(©) [{w(n-1)- 10}2n] (©) [{w(n—-1)— 10}2n]
(D) [{wn—-1)+-10}2n] (D) [{w(n—1)+-10}2n]
84.  Hypokinetic disease is caused by : 84. ERUIGREARCH AT F BRI & :
(A) Loss of flexibility (A) TAeaT B B
(B) Inadequate physical activity (B) IwaE TR TR
(C) Coronary dys-functioning (©) R gﬁ?ﬁm
(D) Bone and muscle weakness D) m o v
85.  School health programme does not include : 85. Yhd Wy HRI%H H fbd wftdferd w81 v ?
(A) Health instruction (A) AR g GHTTET
(B) Health supervision (B) WReg e
(C) Health services P ;
(D) Health research Eg)) "\QHP)
86. Starchis: 86. g
(A) Monosaccharides (A) AFRIENZSH
(B) Disaccharides (B) SIS CR Rl
(C) Polysaccharides ‘TWW
(D) None of the above ©
(D) ST® 3 ¥ Bl el
87. In which game, Tania Sachdeva is associated?  87.  dIf%3T Hacal foy We A w=fad & ?
(A) Golf (A) Te®
(B) Chess (B) w
(C) Rugby
: (C) I
(D) Badminton D) Sefieq
88.  Sports grounds in Sparta were called : 88. el § Wol ASMl B Ped o
(A) Paedo tribes (A) TSI — TTE9
(B) Crypteia (B) foredrat
(C) Platanistas ey
(D) Dedascaleum Eg)) S
89.  Total length of standard swimming pool : 89. HM® W qd B Gl AW Bl © :
(A) 60 meter (A) 60 #Hie¥
(B) 50 meter (B) 50 Hrex
(C) 80 meter
(D) 100 meter Eg)) ?goﬁl—ﬂi‘\r
90. John Dewey propounded the Philosophy of : 90. WM it 7 9 T¥W & ufurea faar ?
(A) Pragmatism (A) TENATG
(B) Naturalism B ‘J@ﬁ‘aﬁ
(C) Idealism EC; aestare
(D) Humanism D)
91.  What type of fats are not hazardous to health? ~ 91. ¥ YoR ¥ a0 @R & foRl TGRS T8
(A) Unsaturated g e ?
(B) Poly—saturated A qu‘?['
. (C) Saturated EB; ag_-ﬂ‘qq
F/'/ « (D) All of the above ©) ﬂ'cfﬂ
/’/ ) |ND|RESULTE (D) SWfh &l
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92.  ‘Pulmonary Oedema’ is due to the failure of : 92.
(A) Left side of heart
(B) Right side of heart
(C) Both (A) & (B)
(D) None of the above

93.  Sprain is an injury to : 93
(A) Ligament
(B) Muscle
(C) Bone
(D) Tissue

94.  Suicide bags of the cell is known as : 94,
(A) Golgi body
(B) Mitochondria
(C) Lysosomes
(D) Ribosomes

95.  The motto of the Asian Games is : 95.
(A) Ever upward
(B) Ever onward
(C) Ever forward
(D) Ever skyward

96. Who is known as the father of ‘Modern 96.
Physical Education’ in Germany ?
(A) Gut Muts
(B) John Siman
(C) Ludwig John
(D) Johann Bernard Basedow

97.  The game ‘Table-Tennis’ was started from : 97.
(A) America
(B) China
(C) Japan
(D) England

98.  The joint between two parietal bones is called : 98.
(A) Parietal suture
(B) Lambdoid suture
(C) Sagittal suture
(D) Coronal suture

99.  “Cryotherapy’ is also known as : 99.
(A) Hydro therapy
(B) Contrast bath
(C) Paraffin bath
(D) None of the above

100. Amylase, Lipase and Trypsin enzymes are 100.

produced in :
(A) Mouth
(B) Stomach
(C) Duodenum
(D) Small Intestine
%k kdkdkk

@ WoiresuLTe

fhas! TWHl & HRY FHE A6 D Refa yame
& O § ?

(A) 1

(B) < ged

(C) THi (A) T (B)

(D) 3uGH A | I TEI

| 9e 8 :

(A) formie @t

(B) HAreueh @

(C) &l 3l

(D) Hdd @I

BRI B TR BI Aell PaT oI ©
(A) TTeSidE @

(B) HECIBIOGAT Hl

(C) CIgEIEM &I

(D) NTEEEE B

TR Well &1 Rigia (dfeh) o &
(A) TR g8

(B) TR Irgs

(C) TR BRIE

(D) TR Wras

o A g iR Rrer &1 R R A
I 8 ?

(A) Te-HeH

(B) WM W13

(C) Jefam i

(D) ¥ g1 IS
CqA—CfTE Wl BT YR 3T o -

(A) AR &

(B) ¥4 ¥

(C) U |

(D) 3vE ¥

A uRde fssdl & d $ Se @ Fal o &
(A) URed g

(B) WHEIFS PER

(C) wellest Fav

(D) BRITe FaR

FRRRG B 39 99 F ff T o € 7
(A) id fafdear

(B) ¥ U9 3vS fufdheam

(C) wm fafeear

(D) SUgw 4 9 IR T

THIgelS, offgys ol fEftad gramed S e §:
(A) a7

(B) 3RE F

(C) T& #

(D) &% o= o
indiresult.in whatsapp - 9352018749

87/107

25/39 6:;//) INDIRESULTE



AV AD

&

&

.‘
indiresult.in whatsapp - 9352018749 6{//’ IN IRES T
¥

OUR SUCCESS PARTHER

I R=Y wa U qoi F Rl UPR @1 Sgraer el 2, v Sl a9 & 9= '@

If there is any mis-match in Hindi & English version, then english version will be acceptable.

Pad HOTHOIRO Seek—ud IR Fi¥Ed Ier W & o 791 | S0TH0SIR0 SaR-T3d Tl Fei—JRadT | 31§
Faifed g 7 T R 7 & 8 W A o AW ford | 7' A e v om0 AR sifva fear A @
o R we @ 1 e ¥ fier a1 o= Rl & geEe @ U &1 v Fen i afvla 21 39 JeR @
PRI T W D 3 ol TR |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

ﬁTm(Roughwork) Wgﬁaﬂﬁﬁﬁmm1

Rough work is to be done in the Question booklet only.

Y% Y & I 8 A9 A [P & FTIR TP & g Bl A YR W | UF | ¥ W Y gl I
TR T B3 B a1 U9 @ didg e B Teld Scax /AT W |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

IR : I AN Bl vy &1 uee W@ 41§96 WO

Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41:  What type of mixture is smoke ? §3ﬁ fr yaR &1 fgor & ?
(A)  Solid mixed with a gas (A) 9 Al e
(B)  Gas mixed with a gas (B) i faf¥a i
(C)  Liquid mixed with a gas (C) w9 faf¥a za
(D) Gas mixed with a liquid and a solid (D) %4 Ud o e i

afe s JFAR 6 9% F WEH Sk / fdbed (D) B, A IcR-T3F H 0 AT ¥ Wt fava—awg Hrem we wen
41D T D T DI 39 TOR W |

If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

we fafer Tera fafdy

Correct method Wrong method

OO

(afe Tera fafer & ot fooel 3= it & @1g e @ A @ A 6E SRk @ 9 o @t Y & aeR T IR A
U SfTUe WA 3iF FoeTE B E )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

&

P

Lod

=~

)

@

wenffal F1 Ry wu @ qaw @ W 2 5 AR 97 0 vE-gRaer § o w9 gvar ge wen Ffege s
Y el a1 $9e! I 7 o Fles @1 < e e s Sl R 1 w9 s e 3 guRT o 9B |

The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

T # gerdgie U4 A9 DGy aUl A Foag e WM oW AeTgd B, GO 3ee B |y o gofe: afdfa € |

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

T WE § HOTHS 3D BT W & | TS Teld IR B (oG Y B HIET R |

There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.
TP W B 3 A I W ARE T I R A HOICE 3F ST WU 2| T 6 Tor Iew B Wil v 3@ Ber dR|
On giving of two or more than two answer for every question, % mark will be deducted.

T -GG ¥ U IgeHiB SR T R (Rough Work) 3 AftiRed g 7 ford |

Do not write anything except the Roll Number and rough work in this Question booklet.

Tl Ik B TEE OMR Ui B IR BEd 3 W § A R GR-4R v wderff ofy @ wdemft s v
o SRR T A T 7 PR v du Al o suee s |

Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.
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